P. 407: 9-12,21-24, 4143, 46,41, 51 (ISR \(W

]IG.M is a parallelogram. Find each measure.

@z =3
9. JK 24.5  10. IM 4.5 / .
~11. mzL S\° 12. m/M 129° 626/

Tx=3x+14 A2-3+52-b =130  msL= 9_(27)-5
X =it T2-9= 130 mLL=5I°
X= 14y T2 =139 s
X=3.9 Z=2% Mmim= :%o |

Ji=1(3.5)

Je=M.5
WXYZ is a parallelogram. Find each measure. X Y
2. WY 10 2. YW 20
23. xz2 2% 2 zv 4 - ! 7

3a-1=20. b+8=5b V= 2+8=10

a=% 8;% Xz = 2(7) +2(7)
a=b

Find the values of x, y, and z in each parallelogram

41. K \ 42. 43. Vv '4
X° 610 y 'C‘

=(lol° 7
y=ol" X=°‘0. —'331_ —'Z_q_g X=24°
X= g 2=53 2%+ 37 g-‘_’:—aj:

7=’ Y=2a1"



Xy Algebra Find the values of x and y in each parallelogram.

46. / 2x /
)ﬁkg 2(3)=

X= Z:j’q lp:
X=2(2x)-9

X= Ux-9

-3x=-9

X=3

51. What is the value of x in ZJPQRS?

© 30
B 20 @ 70

Q Yx + 25)° i
p (Sx ~ 5)

X+3+7=3X Y=5+3

X+10 =3% ’ =)
‘D.—ZX H_-

k=5)

S
3X+25=95x-5
20= 2X
X=15



